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v,ve,..., 00 10000000000,00n000000000000000000DO00O0DOO.
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vi,...,0,0 10000000000, v,...,u2. 0100000000, v1,...,v_1,v,0 10
00000000 A00000. 000
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0000O0. A0 (x)0O00D0ooOoOooooo,

Avg = o Avy + -+ - + ag—1 Avg_q
S AU = 1A U1+ Q1 A1 Vk—1-
00, (+x)0000 A 00000,
ARVr = Q1 ARV + -+ Q1 A Vp—1. ()
(x)0 (xx) 00,
a1(M — Ap)vr + -+ a1 (Ag—1 — Ag)vg—1 = 0.
v,..., ., 000000100000000,

ar(A = Ap) = = ap—1(Ap—1 — Ax) = 0.
M—A==X1—-N#000,v=0000000000.0000,000vw0 A0OO
odod0o0oo0ooooo. oodo,A0D00Q0O0l0D0oDO00oooDOoooooooDO 14
goooao. ]

10000-,00000000R"0OD00D0000DO0O0OOOODO 226000000000 AO
ooobooobooooboo0bOOO0ODOOODOOOODOOODOOO0 RPOODODDOODODOOO
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ugbbooobogbodabobooboboobooboobboobbooboobu nggboaoo
gooboooodobor-0b0OO0O0OO0OO0O0OO01000000DO000ODOO0ODOOOOO0OOOO0O,d
oooroooooon.

242 000000000

goboboboboobooboboobooobobobobooobde=200000000000
uboboobOobooooboboon

260 (0000 10000). 200000 ADODODODOOOO A AeROOOOOODOOOOOO
AOOOO XD
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uboboobooooooobooooboobooooooboo

Vo = <1:1> o Az =Xz (2.14)
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O0D000000000000 R2O0D000ODO0O0AOODODOOODOOODODODOOOD
000000 R2O0DDO0O0O0O0OOODDO0O00 22000000 ADDODOOOOODOOOO

00
A— A #0

goooooo
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000000000000 100000000000000000000 R20000000000
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gboo0o 0oobooooooobooooobooboobooooboooobooboooobooon
0000000000000 000000000000000D0 (000 vé¢Ker(A—XI))ODO
oo

vy = (A= A)v (2.15)
Vg =0 (2.16)

0000000000 v 00000000000
0000 2.7. 0
(1) (A-AN20000000000000.

(2) v, 0 R200000000000.

0000 27000000000
(A= Xvy = (A—=X)*v=0
D000y 0A0D00O0D0O0O00OO0O0000
Avy = v (2.17)

000000000000 (215)0 (2.16)0(2.17) 000000

Avlz)\vl
Avy = v1 + Avg
oood
Al
A(vy v2) = (v1 v 2.18
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ooooooboooooon
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0000 POODOOOOOO POOOO (2.18) 0
A1
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0 A
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000000000000:00000 (2=1),x00v00000v#00000000 Az= Mz
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T =u+iw (2.20)
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00000000000 (224)0 (22500000 (2.23)0
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OO00000000DOb000oDe00DO0OO0 pO00DbDOOOO0ODODOOODODOO

25 000002000
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Ub0 «00oogn
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VeeC,Vhe R": F(x+h) > F(x)+VF(z)-h (3.1)
googood
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oboooooboooooobooon

VeeC,Vhe R": F(x+h)<F(z)+VF(z)-h
googood
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O000000FO0000 (quasi-concave function) 0000000
3.700.cCcoO00000O0OCOO0O0000000F:C—-RO0O00O

1. FOOOOO OO
2.VzeR: O{zeC|F(z)<-} 0000
goooooo
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goog 3.6. gpoobooooa
F(xy1,22) = {1252, o, ag >0
goooboooboobooobooobooo
o) +a <1
googbooboobooboboobooboobooon

oooocoooooooooo.

3J1000.CO00O0OoOoOogocCcooooooooO F:C—-ROOOOOFOODOODODOOO
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O000z>00000 ¢g00000000O000O00O0O0OY(x)=00000 000000000
O0000000¢(x)=00000 0000000000000 OOOOUOOOmM
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4 UJU0O0b0ogooobobobooood

4.1 0O0OO0OOOO0OO0OOOO

000000000000 0000000000000000000000000000000
gboooo 2000000000000 00b0bob z000000000O0OOOOODOO
gb200000000000000000000DOO0O0OOOOOOOOOOOOOO00O00OO0
oboooooboooogon

max u(eg) + du(er) (4.1)

(co,c1)

subject to c¢g + ¢ < z0O
Co Z 0

6120

00000000000 w«w0000000¢ 000 00000000 100000000060
0ooooooo
00 (41)00 (¢f,¢})000000000000000000000000000000

u'(cg) = A
du'(ef) = A

00000000000 0O000o00ooO00o0oo0ooOo0o A oob0o0oboobooobooooooa
—u'(c§) +ou'(cf) =0
g+ =2
oo00oo0oooOo0ooooooooooooooooooooooono

gobogbooooobobobobobobobooboboooooboboboz0bOobOn
0000 7000000000000 00O00O0O0000OO0O0OOOO (41)o0o

( max : u(co) + oulcr) + 62uleg) + - + 07 tu(er_q) (4.2)
€Oy, CT—1
subject to co+c+--+er_1 <zO

Co Z 0

C1 Z 0

cr—1 >0

oooo0ooooooO0o2000000000000 (42)00 (¢,...,c-_) 00000000
gooooooboooobobobooogooboo

u'(c5) =

A
du'(ef) = A

8Tt (¢hy) = A

000000000000 0000000 Stokey-Lucas, chapeter4d 00 0O
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obooobOooboooooboooooon

=6 (c;_y) + 8t (ef) =0, t=1,2,...,T—1
GACi bt =T
gooobbbbooooobbobbooooobobobbuooooono
0000000 TrTooooooooooooooooooooooooooOooboooboon

ToobooboobooobooboooobooobOooboobyz0O0bOObOOObOOObOOOODOOO
ooooo

{ct:t=0,1,... }

max Z §tu(cy) (4.3)
t=0

o0
subject to th < zO
t=0
¢ >0, t=0,1,...

ooooooooooooooooooooobObO0o0o0ooooooooboooooooooDoon
ocooooOooooooooobooooobooOoooOo0oOoooOooooboOooobOoOOooooooobooo
ocoooooooooooooobooooooOoobo0oooooooboooDooOooooDOooobooo
000000 0000D00000Dynamic Programming: DPO OO OO

4.2 00000

000000000 XCR}OOO0x,€eXO0O0D00OO0000000<6<100000000
Oooo0 f: XxX—-ROOOOOOOODOOOOO

4.2.1 0OO0O0OO0O0DOOOOO

00000000 DP(ze) 000D O0OO0OOUOODOOODOOOOUDOOOOOOO

max Z 5tf (?Et, 9Ut+1)
t=0

{w:t=1,2,... }
subject to  T'(z¢,x441) >0, t=0,1,...

.’E():fo
0000000 2zeX0OUO0O00OT(2,y) >00000yeXO0OUO0OOOOODOOOOO

41 0 (00OOOOOO0). UO0O0O0OUOO0 zOOUOOOOOODOOOOOOOOODOOOOOO
gbooooooooooooooooboboboboDb z2000000000000000DO00
Ou(z) 000000 60000000
0000000000000 0o00UD {¢}00000000C00O0O0DOO0O0OUOODOOUOOO
(43) 0000000000000 0O0O00UOO0OOU0OO0O0OOO0OUOODOO0OOOOOUOO
0000000000000+ 000000000oU0o0o0oUDUoO0nD {2} 00000

Ct = Tt — Tt41

T = X
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0000O00000oo0ooo 4.3)0

oo
max Z §'u (xy — T441)
{z+:t=0,1,... } o

subject to x9=1T

xtfxt_HZO, t:(),l,
goobooooooon
[ (@, 2041) = u (@ — Tp41)
F($t7$t+1) =T — Tl

oooo f(:z:t,xt+1)DDD F(It,$t+1)DDDDDDD

max Z 6" f (e, 20 41)
t=0

{z::t=0,1,... }
subject to xzg=Zz0

F(l‘t,.’L'tJrl)ZO, t:(),l,
ooooooooOoOOOOOODOOOOO pPOOOOOOOOOOOO

0000 4.1 (0000O0O0O0). 00000000 OD0ODO0OOOO0OO0OO0OOOOOUOO0OOOO
000000000 pgo (B>0)000000000000¢t0O000O0O0t+100000000
oooobooooo

Ti41 = ﬁ(xt - Ct)

oooooooooooooooboobooooooOoooooooooDobPOOOOOOOOO

0000 42 (00000). t0000D00O0O0O0OD 1, 0000 0000 s, 00000DO0O0ODO
gboboo:b000000b0000b00b00004d

Ct + 8¢ = x4
gbooooboobo+«toboobt+100000
xt:(1+’l:)5t

gboooboobooboobobooboobooboobooo

o0

Zétu(ct)

t=0
0doooooooboooooooo  bpOO0OOOoOoooOO

4100 (0000000). 00000 {:¢t=0,1,...}000 DP(z)000000000000
{z,:t=0,1,...} 002, 000000000000000000000000000000000
00T (z,2,41) >000000 ¢t+000000000000000000000000000000

4.2.2 0000000

gbobobobobobobobobobooboooboobooboooooobooooobooboaon
XOOoooooof:XxX —-RO0O0O0O0O0O0000O000DOO0ODOOOOOOODOOO
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O000000oooooo0ooo0oDo00ooDoooooooooooooooooooog
0000000000000 0ooo00oDo00ooOo00ooo00oooooDooooDoOoooDoOg
O Euler equation0 00000000000

0] 0]
%f(zt_17It)+5%f($t,It+l) :0, t= 1,2,... (44)

000000000000 DP(z) 0000000000000 0O0O0O0OOO0OooOooooo
oooobooooooboooo

4100 (00D0000). 00000 {2 :¢t=0,1,2,...} 000 DP(%) 00000000000
00000 (44)000000

4100000. 00000 {2}000 DP(z) 0000000000000 O0ODOOOOOOO
(o)
D 0 f (@) = f(@o, 1) +6f (@, we) -+ 87 f (w1, m0) + 8" f (g, 01) + ... (45)
t=0

gboooboobooo¢«oobobobobd 000000000000 DO00OO0ODOODbOO0O0OO
oboooooboooooboon

V(z) :f(m(hxl)+5f(:r1,x2)+--~+5t_1f(xt,1,z)+5tf(z,xt+1)+... (4.6)
googoog V(z)DDDDDDDDDDDDDDDDDD

max V(2) (4.7)
subject to T (z4—1,2) >0
[ (z,2441) 2 0

odob0oodoud z=,000000ooooobDooooban :CQDDDD
V(zy) >V (24)

oood

flxo,m) 4+ + 671 f (w1, @) + 8 F (), 2e1) + -+ >Z5tf(il?t’1t+1)
t=0
ooooooo0 {zg,z1,...24,...}00000000000000000 {zo,21,...2¢,...300
0 DP(zo)0DO00OO00O00D0OO0DOO0O0OO00ODOO (48000 2=2,0000000002=2,0
4801000

d B g O , 0 B
sz(Z) . =0 & 9 axtf($t—17$t) + 0 axtf(xuxtﬂ) =0
0000000000000000000 &#'00000
0 0
Txt (xt,l,xt) + 587%'}0 (xt7l't+1) =0 (48)

000000 ¢t00000000000000000O0000O00D0O000DDO 4400000
oo O
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420 (D0O0OOOODO). D0O0OO0OOUOOOOOOCOOOUODOOOOUOOOOOOUOOOO

max , Z S'u (zy — T4y1)
t=0

{z+:t=0,1,...
subject to xy —x441 >0, t=0,1,...

To =21
ofdooooooooooooao
—u (x4_1 — @) + 0u' (x4 — 2411) =0

gboooboooboobuoobuobu ¢ oboobobo
o’ (ey)

() (@) =0 e

=1 (4.9)

0000¢+-10000000000 6 (.)0t0000000000 6/ () 000000
(49)0000+¢—-10000000¢t000000000DO0O0ODOOO0ODOO0UOOOt-10000
00+000000000000Y0000000000000000 (490000000000
gbooooOoboooool1gboboboooooboooobooboooonog

4.2.3 00000

00000000000000O DP(zp) 0000000000000 U0O0OOOUOOOOOO
oobooobooooobooobobooboboooboboooboobobooboooobooboooooboooooon
gbooooocoooooboobobobobobooobo11b0bobooooooobooobooooDbo
gbooooooooooooooooooooooooooooboooooboooooooonag
obooobOobooooboobooonog

lim 6t8i (4, p41) 2 =0 (4.10)

t—oo Tt

OO00000O00000DOCO0O0D O Transversality Condition: TCOO OO0

0

4200 (O0O0O00O0O). 00 f (2, 2441) 0 X><XCRXRDDDDDDDDDDa—f(xt,xtH)>>
Tt

00 XxX0OU0O0OOOOUOOOoO0ooOUooOoooooooooO {z:t=0,1,...}0

1. 0000000 (4.4)
2. 00000 (4.10)
00000000{z:t=0,1,...} 000 DP(z) 000000

4200000. 000000000 {a;:t=0,1,...} 00000000 (44000000 (4.10)
0000000000000 0000o0ooood {«):t=0,1,...} 00000

Zétf (T4, T41) > Z(Stf (2}, 2hyq)
t=0 t=0

gboooooboooooon

ooooo0o0o00o0000ooooooog
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obooooOoboooooobooon

D 0 (@) = Y 0 (whwyy) = lim <
=0 =0

T— o0

lim
T—o00 ;

000000 f(z,2) 000000000000

T
(;tf (xtﬂxt+1) - Zatf (x27$2+1)>

t=0

WEEIE

§t(f (-Tt,xt+1) —f (z;,x;_i_l))) (4.11)

Il
=]

f ($Qa$§+1) — [z, x41) < Df (@, 0e41) (fcé — Ty, Ty — $t+1)

= fi(@naen) (@ — @) + fo (@, 2041) (Thgq — Teg1)

oood

f@e @) = f (2, 240) = f1 (@ 2eg) (w0 — 24) + fo (0, Be41) (Teg1 — hpq)

oooooogo
T
jlgréo (Z 5t (f (xr, zi41) — f (x;tax;-l-l)))
t=0

T
> lim (Z §* (fl (e, Beq1) (T — 27) + f2 (T4, Teg1) (Beg1 — 371/5+1)>> (4.12)
=0

T—o00

0000000z =2,00000000000

T
> (fl (@4, @er1) (we — 23) + fo (20, 2e41) (2241 — Z‘QH))
t=0

= fi(wo,z1) (w0 —
!
1

82 fo (w9, x3) (13 — ) + 0> f1 (w3, 24) (23 — 2%) +

ST o (wr—1,27) (xr —2%) + 6T fi (v, 2r1) (20 — 7)) +

6" fo (xr, 2r41) (2741 — 2 yy)

T-1
= Z &t (fz (Te,2441) +0f1 ($t+1,$t+2)) (ze41 = 2hpy) + 0" folar,zri) (Brg1 — 2py)
=0

000000000000 004.12)0000

T
TIET;O <Z 6t (fl (24, Tp1) (@0 — 23) + fo (@4, Te41) (It+1 - I;H)))

t=0

T—-1
= Jim <Z 5t (f2 (T4, 0441) + 0 f1 (zt+1,xt+2)> (241 — 172+1)>
t=0
+ lim 5T fa (@, wr41) (141 — T ) (4.13)
gooooooooooooo (4.4)|:|DD

f2 (xt7xt+1)+5f1 (l’t+1,l’t+2), t:031527"-
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000000004.13) 00000 100

T—1
Tlgléo (Z &t (f2 (T¢, 2441) +0f1 (l’t+1,$t+2)> (ze1 — $Q+1)> =0 (4.14)
t=0
goooo 2000000

i 5" fo (wr, wrin) (w41 — 2pyy) = - Jim ST 1 (wrgr, wrge) (w741 — apyy)  (4.15)

— 00

000000000000 (4.11)0(4.12)0 (4.13)0 (4.14)0 (4.15) 0000000

oo o0

Z5tf($t,xt+1) - Z5tf (xtvxt+1) > — lim §"fy (2p41, 2040) (CUT+1 - »TTH) (4.16)

T—o0
t=0 t=0

0
000000 (416)00000000O0O0 aif(zt,xt+1)>>0|:||]|]|]|]|]|:|[| :E/T_HDDDDD
Tt
oooooooo
- Jim ST (prga, wrge) (wrgy — 2 yy) = — Jim ST 1 (T, w742) T4
+ lim STH 1 (w1, 274e) 2y

— lim 6" fy (zry1, 2740) 21 (4.17)

T— o0

Y

ooooooo Tcogod

Thm 5Tf1 ($T, iL’T_H) T = 0

00000000M417)00000000000000000O0O (4.16)0 (4170000000

Zét (e, Tog1) Z5f T, Thyq) > (4.18)
=0

000000000000 f(a,a4) 0000000000

Z&tf (2}, @hyy) < 00
0000000 (4.18) 0

o0
Z(S f xtvxf-'rl > Z xt,l‘t_H
t=0 t=0

ooo0o0{z:t=0,1,...} 000 DP(zo) D0 O0ODOOOO O

41 00. 420000000000 f0000000000000D0OO0O0OO0O0O0O0 {z;:t=
oo

0,1,...}0000 » 6'f(a},2},,) 000000000000000000
t=0

OO0 fO0000DOOOO0ODOOOODOOOODOOOODOOOOODOOOYfO

@y, ze41) = u(g(@e) — 26-1)

0000000000000 000000000000000000000w=n(2)000000
ooooo0o0 fOROODOOOOOOOOOOOOOOOOOOOOOOOCOOOOOOOOO
goooboooboboooboobobooboobboob Xoooooboooooooooooboo
gooooooooobooboooooob0 «.00000DO0Db0obOO0D000 X0 ROODOO
00000000000 X0oo,M|0000000O00O0U0O0D0OD0O0UOO0DO0DO0OD0OOOO
ooooooooo
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430 (D0O0OOOUOOODO). DUOOOODOODOOOOO
u(z) =1n(z)

oo ooooobooooooooon
oo
5" —
iy 20— o)
subject to x; —x441 >0, t=0,1,...

To =T

oboooOobooooboboooooboooooonoo

1 1
— +6 =0, t=0,1,...
Tt — Tt41 Tt41 — Tt42

000 =2s—x1 0O0O0O0O00O0OO0O0O
——+6—=0 < Ct+1:56t (419)

000004190 ¢=0,1,2,...00000000
cp =0'cy, t=0,1,... (4.20)

gboboobOobooooboboooobobooooooo

00000004200 00000000000000000((4.200000000 ¢e0O0O0O0OOO
bbb UboboboooboobooooboooobobboobooboooboobbooooDboo
gbooobooboobooboooobooboboooboooobooboboo0obbog ze00OO
0000000000000 (42000000000000000000O0O0O0OCOOOOOOOO
0000000000000 000000000000O0004.20000000000000000
ooooobooooo

th = co(1+6+62—|—...)
t=0

1
1-6

= CO

gboooboooboobooobobboobooboo

1
1-9

Co =Ty << Top—C= 5560

ob0oo0O0b0o00oob0bo00ceg=2—x; 000000000

ry = o — Co
= (5%0
U000 =z —2z 000000000
T2 = T1—C
= 5(%0—00)

= (52.%()
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oooooooooooo
=0z, t=0,1,... (4.21)

oboooboobooob o0 00b0obooboobobobooboobboooobobbobDobDooo
O0000@d2n)00000oo0oO {a:t=0,1,...} 0000000000000O000O0O0O
000000000000 0000000000000000000000000 f(2) =In(2) O

0
0000000004200 000000000 fDDDDDDDDDDDa—f(xt,xt+1)>>0EI

Tt
gooooooooooboobooboooooooooooooboobbobobboboboboooooo
O f(x,2441) 0000000000000 0COOOOOOOOO TCOOOOOODOOOODOO

coooooooooooooooo TcooOoooooo
1

Tt — Tt+41
1

so-f (e x41) =

gogoooo
lim 5tif(x Tep1) Ty = lim 5fi5t:¢
t—oo aﬂ?t i+l ¢ t—o0 tCO 0
—  lim &t

t—o0 Co

1
= lim §'——
tggo 1—-6

= 0

ooooOoTCcUOOOOOOO0OOOU0OO0OOOU0ODOO0OOM.21)D00O0O0OODOO0OOOO
ooooooo

4.2.4 0O0O0O0O0OOO

goo0oo0oo0o0o0ooO0ooOOoboOoOO0ooO0ooOOoDOoDOODOOobOdbDO0obObOOobOooboobono
0000000000000 bO0o00D0o00ooDoo0oDOo0ooDOoDOoDOooDOooDOooDooDOoonDg
0000000000000 0OO0O0O0o0oO0obOooOOobooOOobOooOOobooOOobOOgbOBellman
equation01 00000000 0ODOM O

4200 (DOD0OO0OO0DO0OO0). 00Dv: X —-ROO0OO

Ve e X, v(z) = ” Frflfi)zo {f(m, y) + 5v(y)} (4.22)

gooobooobooboobooboobooo

oboooboooobooyo0ob0ooooboooooboobooboooboobooobooboooon
(422)00000000000000000000

4.3 00 (Policy Function). 0000 v(z) 000000000000 0OOOOOOOOOOOO

o) € max_{f(z,y)+d0()}

y: I'(z,y)>0

00000000 ¢(x) O Policy Function0 00000000000 OOOOOOO
80000000000 000000000Ooo0oononon
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4300 (00D0000000). 00 DP(%) 00000 Zoe X00000 {af:¢t=0,1,...}0
0000000000

vt (Zo) = Y 6'f (a7, 27,,) (4.23)
t=0
00000000000 »000000000 (4.22)00000

(423)00000000000 v* 0 Value Function0 00 000000000000z =2 O
0000000000000000000000000000000 4300000000000
{z;:t=0,1,...} 000 DP(#)0000000000000000 Value Function 000000
0000D0000000000000000000000000000000

4300000. 00000000 ZeXO0OUOOOO DP(Zo) 00 {Zo,xf,x5,2%,...} 0000
O0O0O0O0oDoO0O0 zge XOOOO Value Function v* O

v*(Zo) z%yf (27, 2714)
t—
= [(zo,27) +6f (a1, 23) + 8 f (25, 25) + ... (4.24)
000000000 (z)00000000000000
U*(ifo) < f(fo,(%l)ﬂ-(s’l]*({%l) (425)

0000 4 € {zre X|T(%,2)>0}000000000000000 4000000000

o0
max Zc?t T T
L SR f(wey1, i40)

subject to T (x4, 2441) >0, t=1,2,...

T =3y
O0000000000000 {&,489,%&3,...} 00000 Value Function 0000000

0 (#1) = [ (&1, 82) + 6 f (2, 83) + 07 f (3, 84) + ... (4.26)
00000000 (425 00 (4.24) 000 (4260000

f(Zo,x3) +0f (27,25) +... < f(Zo,21) + v (21)
= f(Zo,21) + 0f (&1, 22) + 02 f (&2,23) + ...

000000000 {Z,41,42,...} 00000000000000000000{%,a},3,...}0
00 DP(z,) 000000000000000000 (4250000

VZL’l G{F(fo,.’ﬂl) ZO}, U*(fo) Zf(:io,xl)thM*(:cl) (427)
0000000000z e XOOOOOOOOOOOooOOOOooooa

Vo€ X, v*(Z) = { %o, 5 }

Zo v*(Zo) oo f(Zo, 1) + 0v(z1)

000000« 00000000 (4.22)0000000000000O O
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440 (D0O0O0OOODO). DUOOO0OOUOOOOOOUOO43000000000O000OOO
u(z) =1n(z)
goooooooooooooon
v =0t & ¢ =(1-0)8

0000000 Value Function O

x)zZétln((lf(S)Jtz)
t=0
ubooooOoboooobooboooon

Vo e X, vi(z) = ” Fr&a;c)m {ln (x—y)+ 62 8 In(( )} (4.28)

ugbooaood

max ln(z—y)—|—5§:5tln((1—6)5ty)
subject to I'(z,y) >0 Dt:O (4.29)
gooobbbobooooobobbbbodybbb1bboooooboboboboga
In((1 - 6)d'y) = Iny + In(1 — §)¢"*

obooooool1oooao

! +6§:5t1—0
) =0 Y
gogoobbby0obbbooooobo

y=dx

0000000000000 0000O00O000000 (429 00000000000 OO0OO

max {ln x—y)+ (526tln )} = In(z —dx) + Jiétln((l —6)0'6z)

y: T(z,y)>0 =0

In(( ) + Z 5 n((1 - 6)6" )

Z §'n((1 - 0)8')
t=0

= v (2)

0000000000000 428)0000000000000000O0

obood 4.3. 00000

OO0000O0000D0O000 410000000 4200000 Value FunctionOOO0ODO
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430000000000000 {z;:t=0,1,...}000 DP(z) 0000000 0OOOOOO
Value Function 00 0000000000000 O000000O0O00OO0O00OOOOOODODOOO v
O00000000000000000D00000 DP(Zy) 0000000 Value Function 0000
gboboobobooobobooooboooobobooooboboboobooboooonbOoDn

4400 (00DOO0ODODOO0O). DOOO0200000
1.v00000000 (422)000000
2.DDDDDDDDDD{m:h:QLm}DDDD}mﬁ%@g:oﬂmﬂﬂmwﬂ

0000000000000000000¢0000000000000000 {Z,$(Zo), #*(Z0o), ...}
000 DP(z) 000000

4400000. 00000 o0bbbObOO0O00ooobboboOo
Vo e X, v(z) = max {f(x,y)+5v(y)} (4.30)

y: D(z,y)>0

gboooooaogaon

max f(z,y) +dv(y)

subject to  T'(z,y) >0
0000000 ¢(z)000000(430)0 ¢0000
Ve e X, v(z)=f(z,6(x)) +v(e(x)) (4.31)
00000000 ¢(z) e XO0OOODO (431)0 2=¢(z) 0000000
Vee X,  v(g@) = f((x),¢06(x)) +dv(¢od(x))

gbooobooboobgoooooboo

Vo e X, v(x) = f(z,¢(x))+ v((z))

Il
>
o~
~
—
<
o~
8
:—/
<-
~
+
=
8
S~—
S~—

googoogo

¢'(x) = ¢ogo---od(x), t=1

t

Ubo0Od-s0000000000x=2o00000

(@) = Y _ 8" f(¢' (), ¢ (20)) (4.32)

0000(4.32) 0000 {Zo,¢(Z0), $*(Zo),...} 00000000000000000000000
000

YoooOooDoO0000000000000000000000000000000000000
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O00.00000000000000000TI(29,2;)>00000000 ;000000
v(Zo) = f(Zo, 1) + dv(z1) (4.33)

O0000000000000000000 2, 00000007 (21,22)>00000000 22,00
go

v(x1) > f(x1,22) + dv(z2)

00000000(4.33)0

e
—
I

(==}
N
V

f(Zo,x1) + dv(x1)
> f(Zo,21) + 0 f (21, 22) + 6°v(x2)

0000000000000 0o000o00o0oUooUooUooooDO {ay:t=0,1,...300
oo

4

8l
N
AV

f(Zo,x1) + dv(x1)
f(@o, 1) + 8 f (1, 22) + 5%0(w2)
f(i‘o, $1) —+ 5f(I1, $2) —+ 52f($2, I’g) —+ 63"0(1'3)

%

\%

8" f (@ xr1) + 6T v(wr)

IV
-

8 fze, wr41) (4.34)

NE

>
t=0

gbooobooboobgooboboobo

T
Th—I»r;o <Z 8 f (e, wr41) + 5TU(5UT)>

t=0

T
%Hgaggaéf@%¢m+l)+733;5Tv@nq

Zétf(xumwl)
t=0

ooooooboooo
(432)000 434)000000000D00000O0 {2¢:t=0,1,...} 0000

D 66 (o), ¢ (R0)) = D6 f (e, wa4a)
t=0 t=0

00000000000000 ¢00000000000 {Zo,¢(Z0), ¢2(Z0),...} 000 DP(z) O
0000000000000 O

gbooobooooboooobooooboboooboobooobooboooOobooooboon
gbobooboobooboooooooooooooooooooooooooooooooooonoo
OO00000C0O000D00 Policy Function 0 OO OO0O0ODOOOOO0ODOOOOOO0DODOOOO Value
Functionv OO0 0000000000000 0D0C00O0000O0DODODOODOO0OOOO0OOO00OOO
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max f(z,y) + dv(y)

subject to I'(z,y) >0

gooobooboo

Vo € X, Tv(z) = v(z) (4.36)
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u(x) = kx — ﬂx{ u(z) = —e”

0000000o0oo0oo0oUo00dyg(r)=v(w+2*r)r00000000000O0OO0OOO
goooooo

743 000000D0O0OO0OOODOOOODO

obooooobo«000000b00obO0oboboboooooooboobobobooooooon
U00«.000000000000000DO000DO00DO00DO00DO0O0OO0ObOObOO0ObOOOO
gobobOooboooobooboooobooboooooboooboooboooboooooDooag
gboboobOobooooboboooooboooooboobooooonon

710 00. a<0< 000000 [,p)00000000O0O0OO RO g0O0O0OOO0OAOOOO

0000000000 z€[e,40000 K(z)<0000000000¢g0000000000
8
z€[,0)0000 g(z) <00000 z€(0,4 0000 g(z)EODDDDDDDDD/ g(z)dz =0

oooooooboobooo :
B
/ h(z)g(x)dz <0
googod

71000000. 00 GO
G(z)z/ g(z)dx

000000 Gle)=00000000 G(B)=000000000000O000O0O0O0O0

Vz e la,0]: G'(2) =g(2)
B
/a hz)g(z)de = [h(z)G(z)}

(7.36)

1
|
T~
RS

=
—~

N
N~—
Q
—~

~
N—
QL

N

0000000000000 2€(0,0)0000 G'(2)<00000 z€[0,8/0000 G'(z)>00
00000GO [0,0)0000000[0,400000000000000000

Vz € [a,0): G(z) <G(a)=0

Vze[0,58]: G(z) <G(B)=0

0000000 2€]0,f 0000 G(2)<0000000000000 z€[a,80 A (z)<000
000000000000 z2€]0,4 0000 K(2)G(z)>000000000

B
/ B (2)G(2)dz > 0

0000000 (736)00000000000O0O0UO O
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711 00. 0000 «w0 0000000 (0,00)0 00000 20000000000004 >
0, >000u <0, <00000000000000002000000000 fO0000O0

Vz € (0,00):  v(2) = f(u(z)) (7.37)
o0oooO0obO0o0o0O0obOobobOooOobDOoob R,whOOO
¢(u,w, R) > ¢(v,w, R)
gooooad

71100000. 0000 ROODOOOOOOOOOOOODOOOOOOODOOODDODODO
wOOOOOOOOROOOOODO fr(2)00000000O0¢(v,w,R)00000 000000
gooobogoiliooboooo

E[v'(w+ ¢(v,w, R)R)R] =0
D00000000 B[ (w+ ¢(u,w, )RR <0000000
E[V'(w+ ¢(u,w,R)R)R] < E[v'(w + ¢(v,w, R)R)R|

O0O0000ER (w+2zR)R|02000000000000000000 ¢(v,w,R) > ¢(u,w,R)
0000000000000000000000E[Y(w+¢(u,w,R)R)R] <00000000000
0000000000000 00O02* =¢(u,w,R)000000000D00D00000OO0O 20
00000000 f00000w(2)=f(u(z)) 000000
v(w+ zR) = f(u(w + zR))

O00z00000000z=2"000000

v'(w+z*R)R = f'(u(w + 2" R))u (w + 2*R)R (7.38)
gooooodod
E[v(w+2*R)R] = E[f'(u(w+2*R))u'(w+ z*R)R]
_ /a " (u(w + 2*2)) (w + 2*2) 2 fr(2)dz (7.39)
ogoooood
h(z) = f'(uw(w + 2*z)) (7.40)
9(2) = v'(w + 2" 2)2fr(2) (7.41)

000000 AOO0D0DOW >0,9">000000 (7.38)000000
v'(w+ z*R)
w'(w+ z*R)
O0000O0Rz)>00000000000000 000000000 f”<000u >0, z*€
(0,w)0D0O0DO

I (u(w+z*2)) = >0

W (z) = f" (u(w+ z*2))u (w+ z*2)z* <0

0000000 ¢g000000W >0, frp>0000000000000 2€[a,0)0000 g(2) <00
000 ze€[0,4]0000 g(,)>00000000000:.*000000 0000000000
g1o00oooo

B
E[u'(w+z*R)R| = / w(w+a2*2)z2fr(z)dz =0

[e3
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obooooOobooooboon

/aﬁ g(2)dz = /j o (w0 + 522 f(2)da = 0

0000000000000000000(7.40)0 (741)000000 h(z), g(z)0 7100000
0000000000

B B
/ h(2)g(z)dz = / [ (uw(w + 2*2))u' (w + 2*2)2 fr(2)dz < 0

(e

000000000000 (7.39)0000000ER (w+2*R)R]<00000 O

O0o0oD00O0 «.00000 ROODOODODOOOO0DODOOO0wD ROOOOODOwOOO
0000000000 ¢uw,w,R)00 0000000000000 0O0OO0O0OO0OOOOOOO
good

0000000000000074(2)00,00000000000000000000%0000
ooooo MWGOODeCOOOO

7.5 ODOOOO0

O0000000ooDoO0O0O000000oo0gognJob Search00O0O0000O0DOO0OOOO
gooooboooooboboobooooon

7.5.1 000000

bbb wOO000000¢t=0,1,2,...0000000000000000000000
gboboobobooobooboboobooboooobobooogon

e tOJU00O0ODOOODODOODODLOOODOtODODOLOOODObDODOt+10000OO
0,]000000000000O00O00O0O00O00O0U0OO0O0O0O0O0O00OU0OD fO0O0OO

e t000DOOOOOOOODOOOOODOOOODOOOtODOO0O0wOOOOODOOOOODO
0000000000000 00O0D0O0 (1-9)0000000 wOOODOOOO0Ot+1
oooooooeOOODOODOO

e 1D wlDOOOUDOUOU u(w)>00000w((0)=00000000000000000 w0O
o >000w" <00000000000000000de(0,1)000O0

e 000000000000 §FEu(W)]00000000000000
t=0

37rA(z) 0 0000000000000 D000000000000OJdecreasing absolute risk aversion: DARAD OO
gooog
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7.5.2 000

Policy Function 0 0 0 0 0 Value Function 0 00 0000000000000 O0ODOOOOOO
O000o0oooo0oooooooogdyo {I:II]7DDD}DDDDDDDDDDDDDDDDDD
OO00oooooooooooooon

e 10000000000 wOOO0000000000000000000000000 Policy
Function 0 ¢(w) € {00, 000}00000

e 0000 wOODODOOOOOOD0D000000D0000000000 Value Function O
v(w) 0000000000 v(w)000000000000000

w
0

v(w) = max {u(w) +6{(1 = O)v(w) + 0v(0)}, 5/ v(z)f(z)dz} (7.42)

ooboooboboooooobooobbooboobOooboooooobooooob 0000000
Oo00oO0oooOoODoDODODO AO

A= 6/0w v(z)f(2)dz (7.43)

00000000000 000U000O00O00000»(w)>0000000000000(7.42)0
oo

v(0) = max {u(O) +6{(1 = 0)v(0) + 6v(0)}, 5/0w v(z)f(z)dz}

max {50(0), 4}

= A

0000w=0000000000000000000000000000A0000000000
00000000000000000000000000000000000
000000000000000000000000000000000000 w(w)0DOOOO
00000000 (1-6)w(w)+6v(0)0000000000000000000 900000000
000000000000000 w=0000 ValueDOOOO o(0)0000000000000
w(w) O (1—0)w(w)+6v(0)000000 wOOODOOODOOOO0O0000 000000000
0000000000000000v(w)0 w0000 0000000000000000000
v0 wO0O000000000000000
0000wO0O0O0O000000000000000000 »0000000000000000
000000000000000000000000 «»*0000000000000w*0000

v(w)=u(w)+6{(l-0)v(w)+0v(0)}=A (7.44)
0wdOoobOobooobooboobobooobobooobtdwOoOoobboooboobo o
oo wrgobogno

Vwe [0,w*): u(w)+6{(1—-0)v(w)+6v(0)} <A

Vw e [w*, o] u(w)+d{(1—-0)v(w)+6v(0)} > A
000000000 0w>w*000 0000000 00w<w* 00000000000 AOOO
dooooooboobooboobo0wrooog
A Ow<w'O0O0O O

v w) = ——4——7<u(u0—%50A) Ow>w*000 0O (743)
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0000 »"0O000O0O00OUOw*0 (744) 000000000

v(w)=uw)+o{1-0)vw*)+6v(0)}=A4

O0000000u(w*)+6{(1-0)v(w*)+6v(0)} =A00v(w*)=A0v(0)=A00000
oooooooo

u(w*)=(1-9§)A (7.46)
0000000 (v45) 000000
v (w*) = ﬁ(u(w*)+5&4)
1
_ 71_5(1—3)«1_5)‘4”9‘4)
= A

0000000 0w = 00000000000000000000000 »*000000
u(w)+86{(1-0)v(w)+6A} 00000 ADDDDOOOOOOOOOOOOOOOOO
(74500000000 v*00000000 (742)000000000000000000 o*
0000000006 (w,)000000000000000¢t—o00 0000000000000
v* 0000000000 Value Function 0 00 D0v* 000000000 O Policy Function ¢ O

00 Ow<w*0O0O00
¢ (w) =
000 Dw>w*0000

0000000000000 00000 w*0O00D0O0O0Oreservation price 00 O0000O0OO
O reservation wagell 0 O O O
000000 A0 w*000000000000O0O0O000O0 AO0DOO (743)0 (74500

A = 6/va(z)f(z)dz

*

= /Ow v(z)f(z)dz+/wv(z)f(z)dz]

w*

/w Af (2 )dz+/w1£;(+1(i9ﬁ)f(z)dz]

5
TS0 0 /w 2)dz + l_gff_e)(l - F(w*))] (7.47)

Il
==

= 5 AF(w*)

gooobooogon

= wf(z)dz 00o0oo mf(z)dz:l—F(w)
0 w

0000000(7.47) 0

16?10)/wwu(z)f(z)dz (1—6F(w*)_1;(fo)(1_F(w*)))A

1460 —6F(w")
= Tosa—g (-94
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0000000000O00Uoo (v46) 00000 ADOOOOO

) w
1+5g_5F(w*)/w*u(z)f(Z)dZ = (1-0)A
= u(w’) (7.48)

ooodoo f, F,«.000000000000000 00000 OODDODOODOOOOODO w*
gboboobOobooooboboooooboooooboobooooboOobooon

740.00000w=100000000 [0,1]0000000000O0O00O0OOOOOOOO
O0ze0,1]0000
f(z)=10 F(2)==z

000000000000 vw(w)=wOO0OOOOOOOOOO

@ 1
/u(z)f(z)dz = /zdz

1 2
3 (1-7)
000000000000 UooOoOo (r48)0

g (1) =

gboooOoboooooobon

w* =

(96+ V205 — 62 + 0252 + 1+1)

| =

good



